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- sps Melud / SOCIAL SCIENCE
' ( Tamil & English Ver.siqns }

Grybd : 2 %me‘m‘ﬂ S _ ' [ Qurgs wHLCLGTSST : 100
Time Allowed : 2 % Hours ] _ ' [ Maximum Marks : 100

uGs - o / PART - A
(wliQuesoraet : 30 x 1 =30) / (Marks : 30 x 1 = 30)
@Pluy /Note: 1) L8 ‘o allé wiug alaméser 2 efere.
Part — A consists of 30 questions.

1) TS E AlOTTEEErSGD el &6 .
All the questions should be answered.

srﬂmnm-eﬂm;mmg CarpOlsR&Eaab :

Choose the correct answer :

1. &l 1. 1453 -gib & srerauL ey Crriloens oatupBluaiise
a  SGSHWTSET b) Lésserpiser ¢ LQyeasaryise d) =imdCawiser.
In 1453 A.D., Constantinople was captured by

a) the Tur}cs‘ b) the Dutch c¢) the French _d] tﬁe English.
2. saeutdh oo

a &l b) @rremieus seTug

c) LGS d) esaileners saeeEn.

Kunwar- Singh was a
a) Teacher - b) Military leader
¢) Doctor d) Craftsman.

- 3. amstery Uflallener Hlaphs 2ya0@
- Bengal was partitioned in
a 1911 b) 1912 c) 1905 d) 1910.
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4.

ucgwe - uiqué I 2 L& QUIGSES

A)

U gwes I
gmofles

B) eoym =yeuid
C)
D) LeQanerd Siyy
Match List I with List II :

4)
B)
o)
D)

Ceugyrrit Sumis sevsid

ListI

Zamorin

Shah Alam

Sepoy Mutiny of Vellore
'Lord Dalhousie

siflurer eflen_eows Csitay Cleis :
Choose the correct answer :

o d)

A B C D
a 3 2 1 4
b) 1 3 4 2
c) 4 1 2 3
2 4 3 1
utigwé I-g utigué II o & Qurmsas :
utigwé I
A)  LméLr seTeNQlugedT
B) GLéed siumt
C) Curdlerér Crm
D) Qguafhps
Match List I with List II :
List I
A)  Dr. Annie Besant
B) Delhi Durbar
C) . Motilal Nehru
D) Jai Hind

eiflurer efler_eowg Coiey Cews :
Choose the correct answer :

A
a) 4
b) 3
c) 2
d) 1

B C D
1 3 2
2 1 4
3 4 1
4 2 3.

2

0 N0

L2 S

g g o

s ol

utigue I
Qurserul Guyyear
1806
SUTGY (LpemD
Camfl&Camri i oyysrt.

Listl
Mughal Emperor
1806
Postal system

‘Ruler of Calicut.

uCigwey II
1877
Cramgl
SUTTHWS &8
Slybwesirer gemu’

List II
1877
Netaji -
Swaraj Party
Theosophical Society.
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uligwés I-ep uliqué II o | &b QLT GSES :

uligweo I ‘ : uCigwés II
A) ydu saals Qereams 1. 1985
B) eé. Gg. urur 2. 1986
C) wmGymym 3. w.g.7 (DAE)
D) &nmié 4. 25550 IyCssn.
Match List I with List II :
List I v ' List I
A) New Education Policy 1. 1985
B) H.J.Bhaba 2. 1986
C) Narora 3. DAE
D) SAARC 4. Uttar Pradesh.

sflurer el eowg Caifay Clews :
Choose the correct answer :

a)
b)
c)

d

A B | € D
1 2 3 4
2 5.0 Lo 1
4 1 20 3
3 4 1

- sflurer smpeong Carea Qels : ( &psscmauple g vl BCw sflure smbn )

a)

b)
c)

d)

afleoellud Questrig i Lﬂr}q YL %é\asgmg sﬁ]rﬂmu@gg 5160 6507 LI
LoL S LEams LueTLRSS T

2 | arel oL gnisome oilés 1829 -6 sl b Qarea( aubsrT

st aTireven 2. eMidemsulls SygliueLtld seallulies afﬁ'é]@ggmﬁsm.m SPpsb
Q&g

SLflgé eurlsaflear soeapullear &p 5$a,ﬂ'asemm LGS QB GoODOW

ghuBSSer.

Pick out the correct statement ( only one statement 1s correct Je

a) .

b)

c)

d)

Lord Willilam Bentinck used Subsidiary system to extend the British power
He passed a law in 1829 to abolish Sati

He introduced certain educational reforms on the basis of Sir Charles
Woods despatch . _

He started a new department under Admiral Watson to supress Thugs.
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8.

10.

4

sflurer sapheops Caiey Qaws : ( & {pé&&egorL_auihmléy e LU ECL sflurer sabmy )

a)

b)
c)
d)

grboGurssr grillée grer adp LlLb QuTseTwil Cupyer @pedrLmid
SsuUrTe eflléasiuL g ; '
soalls ErflEssCo SupoLL eriuoL Cprésnrs AL

Sjeut 2. @@ Cuomflullad, Sy Curflllad Qelds sreismens sleubdlemi
Siybwswresdesr uaxiaamen @relsdlyprs srent QaTLiBE HL ST,

Pick out the correct statement ( only one statement is correct | I

a)
b)
c)
d)

Rammohan Roy was given the title of Raja by the Mughal Emperor Akbar II
His primary aim was to reform the education

He started newspapers in Urdu and Arabic

The work of Brahmo Samaj was carried by Rabindranath Tagore.

sflurer sapeops Cairey Qels : ( Spsasabiler ge mﬁ.@@m gflurer sapp )

a)
b)
c)

d)

@iy Caélu ermdyen 1905-6 Qs BsluL g

SIBET WS Gal LD &H0&ESHTaNS HeoL QubDE)

2| Q65T .%eﬁ@i_rraﬁ}mem afly b @551114 Codlu sradlydler Carppsdde adity
Qs flealgsmt

‘Ldleiny,. 8. uretel Wa sl L sHHE s UG,

Pick out the correct statement ( only one statement is correct ):
‘a)

b)
c)
d)

The Indian National Congress was founded in 1905

- The first session of the Congress was held in Calcutta

Allan Octavian Hume opposed the formation of Indian National Congress
W. C. Banerjee chaired the first session.

eflurer sapeops Cotey Qels : ( SpssaoaibBe 1D wL GG sflurer sabry )

a)
b)

c)

d)

Qperer sl Lib 1917 yib <y edor® GLDPLILL L5

<|blitgegen wessT Gl LS5 <isNssl sorelluesr eurerurd et Sdé
Galq &oTIT

Ogeiye Lwi i pey ardled ugdlow Hpsbebuy H& LDOLHEHES
2_ssrailmi

aarr[},é]wa.q.a,efr S PWTEL QUss5085 QST fidlerTr.

Pick out the correct statement ( only one statement is correct ) :

a
b)
c)
d)

Rowlatt Act was passed in 1917
The people of Amristar assembled in Jallianwala bagh to support the Act
General Dyer ordered his troops to open the entrance

Gandbhiji launched the non-éooperation movement.
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Camgl L @Lhseer sflurer el Qaresn® Biylius

Fill in the blanks with the suitable answers :

11.

12.

13.

14.

15.

amsTersdler @rlor 8 waopow PWSIUGSSMWET .oivveeereenrenns SLEUTH.
The Dual System was introduced by ....................., in Bengal.

BUNPBTLIGE oot aeip @Lsdler 2izmufissr Bleneviid a;surm@gzeﬁmgg
The Atomic Power Station in Tamil Nadu is at .........cccevevenen. )

@rdurald Qurgds CsTBOHHET ..ccooveereeeeceennns ATIOEETES GG WD
BL$sILGSSTDeT. _

In India, General Elections are held once in .....c..c.ccceuceeeue. years.
BTLTEBHLOETDSBI «eerrerrreererennnnns 2|ENCUBET 2_6iTETeDT.

The parliament consists of ........c..ccuueuene. houses.

TG S HEErEE OGTDTRGEIN ceveereernearnenesn. R866H DS

The symbols of political parties are allotted by ........ccccouveeenen

gilwmes aﬁ}su;t_smu.tg; Caitey Qs :
‘Choose the correct answer :

16.

17.

18.

wHEWD L igwelléy 2_efTen slepaefler o cdoemtsans

The number »f subjects in the Union List is

a 67 b) 97

c) 47 ; I d} 57.
2_&&md) wepsSHen Mrhsrs sevevemnuliib -

a) - Qsearenen : b} @ibeoL

c Oearasasst ) ys Heel.
The Supreme Court's permanent seat is at

a) Chennai _ b) Mumbai

¢ Kolkata | d) New Delhi.

wrBle SyewésTeeusd Gupald seneeurt

a)  SyE@nt b) WseewEsT

o s&lLl Gureveud 5smaﬁsur'r d) e eTgeop SOWEEIT.
The State Council of Ministers is headed by

a) thé Governor - b) the Chief Minister
c) the Speaker d) the Home Minister.
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19.

20.

21.

22.

@hdluraller Hlassf e sen QL

a arGursT LeteTssTéHE b) Gybwysdlyr ueteTssTéES
c) BIWST UTeTEETEHS d) sug LETETSSTES.
The region where coal is found in India is
a  Damodar valley b) Brahmaputra valley
c¢) Narmada valley d} Tapti valley.
SEemaUT rauL 5816 2 eiter QB SyTmigd) anwowid
a EbuBsmremib b) =i @soD
C)  sEHeTeYT i d) urumTeb.
Place where there is a rice research institute in Thanjavur distrlct is
a) Kumbakonam b) Aduthurai
¢}  Thanjavur d) Papanasam.

wéaeiClgrens yetall afllugd sz 2 STHEEHEE SGEYOD
5e015018R&EILESSTDE 2

a  Uss (sl b)) mba scm@aer
¢ QBuUEl Sy TTHseT d) @G apLD.
The period in which Census is taken once is

a) a decade b) five years

¢) twenty years d) one 'year.

ulgwée g ulqué I 2 et QUIGSES :
uCigwé I ucigwes I

A) Qs Cubel LGSSTHI) 1. @ealitere wayp
- B) e dlpsel upaussThn 2. gsbur ass Nigeufl eueny
C) wep vy YyGssen 3. GarenL wenyp
D) @efitared 4. psemem Ly
Match List I with List II : | _ .
List I List IT
A)  South-West monsoon 1. Winter rainfall :
B) North-East monsoon 2. December to February
C) Rain shadow region 8. Summer rainfall
D) Winter ' 4. Deccan plateau.

eflurer efleeowg Coitey Glewes :
Choose the correct answer :

A B C D
a) 2 I 3 4
b) 4 3 1 2
o) A 4 2 3
d) 3 1 4 2,



23.

24,

uCgweé I-g ulgwe II 2.1 et QuTr®Ssis

UL igwen I
A)  smad
B) &by
C) Gargeow

D) umly suemaser
Match List I with List II :

List I
4) Coffee
B) Sugarcane
C) Wheat
D) Pulses

eiflurer afleo_eows Gt Cews :
Choose the correct answer :

A B C D
a) 4 2 3 1
b) 3 2 1 4
il 2 1 4 3
d) 1 3 2 4.

utgwe I-ep ulgué II 2 1 a1 Qurpssis :

uCguwe I
A)  ugly emiphs

' B) swpsu yeiefl elaurmser
C) uwlemLtuLid
D) wéser @)L UQuwtey
Match List I with List II ;
' List I
A) Spatial
'B)  Social data
C) Bar diagram
D) Transport of people
eflurer efleoows Cotey Ceis :
Choose the correct answer :

A B C D
a) 3 1 2 4
b) 1 3 4 2
c) 2 4 1 3
d) 4 2 3 1.

7
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uCigwes II
2 68701 Iy Gaeid
STHITL &I
wHduws NyCssid

Lehemy.

List IT
Uttar Pradesh
Kamataka

Madhya Pradesh

Punjab.

uliqweé II
aflens el hiseT epebTs
sreoils g
@Qidluraler Quibes el
BSTe UL D
&eT&QHHII.

List I s
Graphical representation
India’s physiography
Flow-map

Census.
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25. sflurer sapeond Csrey Qews : ( Spé&aeTuDDIS GETDI e GG sflurer sabol )
a) weoré sTauy aueaniEfléEE ghDgl ;
b) o bpE F1OueNlé) QUETITL 6) D& LHDIBTTED LigL eu&sLILRSSTDE
o sfled e woyp Boy aloyelé 2 Blgsd
d QEbLeT ‘EHSHSE D DD 2D &aLEHDE.
Pick out the correct statement ( only one statement is correct ) :
a) Sand is suitable for the grbwth of the vegetation
b}  Alluvial soil is deposited in the river beds
¢) Black soil quickly absorbs the rain water
d) Réd soil is also known as Thurukkal.
26. sflurer sapeonsd Coiey Celis : ( Sp&eaa_aDPIe eSTD) wiGCw sfluret sahDi )
‘a)  sGbY A0 LTSS SDeOLES QUmBD ;
b Susbu QhHuralé Gsmismed sEGDLY aleTy ghDal
¢ smblée &&Gymev ere @iliésss 2-sergl
d) ene LDETOTEIETE SH(HIDL r_r;eur;prr&: eueT(HID.
Pick out the correct statement ( only one statement is correct ) :
a) Sugarcane will be ready for harvest in six months _
b) The winter of thé peninsular India is favourable to the growth of sugarcane
c)  Sucrose is the sweet ingredient in sugarcane .

d) Sugarcane grows well in hill soils.

27. sflurer sapeons Csia Calis : ( s seoTaupPler et i HGw a-tﬂmrmsr Sabm! )
a) w&se QTS SigiueLléd @bur 2 edlsdr G Taig BTLTSLD
'b)  aLAPsE LGLESTDDTS SHSS s10Glcusfl Ly CupIAETDE
o @ipduraler Cop& é;l_gb&aam;ruSlé: < pdlrl UpGaped SiowhbgleTeng
d shoss swasidle CuréEearss ausd Sidlab Géeme.
Pick out the correct statement ( only one statement is correct ) :
a) 'India is the second most populous country in the world
b) The Gangetic plains receive rainfall from the North-East monsoon
¢) Andhra Pradesh is on the Western coastal plains
" d) The transport lines are not dense in Gangetic plains.
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sflurer sapeong Coiray Qeis : ( Epssaoaubbie spem wl HGwW sflurer enbo )

a yeldwelé yerefl alleurs Ceafliy eresiug e alleh@meri Uiaunmes gt

b) uguy &rrr‘rqmi;m yerefl afllughiset Blapaseailer ogiueufle
Ceaiflasuu@alarmen

c aleuerwd whmbd Qsrflh srTemesefler 2 husd Qariiurer uetell eluyhisst
seTEaTyL Leel eluyhsmeT@h '

d ealerssiuLbsamer Qrao® cumssaTs Uflsserb.

Pick out the correct statement ( only one statement is correct ) :

a) Data collection is an important scientific activity in geography

b) Spatial data are gathered on the basis of events

c¢) Agricultural and Industrial units are of cultural data

d) The diagrams can be grouped into two.

Camyl L @ hsoen sflurer alloL Qare( @gﬁq& :
Fill in the blanks with suitable answers :

29.

30.

31.

CuEmbgiseT @bSHuralet THOT ................. ey Wb @)\eneworéaleimen.
Buses connect all .........cccoeanrrnnnnnnns of India.
sllpprger uwly Hlessf 2 Hugd Qelyd UGS ..ovvevreeeeneene... A
Lignite producing area in Tamil Nadu is ....... et st asnys e :
u@s) - o / PART - B _
( wGeoraer : 10 x 2 =20 ) / ( Marks : 10 x 2 = 20 )

@sliy | Note : ) eagerbnn uedlldeia srare elamssad, Guandld
LeAlNGhe Grar® aarssemd, yalllue ussTdsha
srereg oaorssead CsihOs®ss Owrssd uss
s sense el welssayb.

Select any four questions from History, any two from Civics
and any four from Geography. Answer ten questions in ail.
i) efgpm@m Soarsg aleaTssErsEeDh FmesoTar aloL SHs.
Answer each of the following questions briefly .
| auyery ( doaCuaid prarg alemésense LI Eb aloL 5®S )
HISTORY ( Answer any four questions )
Gemeuget Qansrdl ‘wreufl Qaneml’ aar SowssiLRuCHET 2

Why is Prince Henry called “Henry, the Navigator” ?
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32.

a9

34.

35.

36.

10
@prdu Qeuyl uTegllar sheng Dl aqmg;iﬁmﬁu@usuﬁ‘ wrrtr ? gest 2
Who is known as the Father of Indian Railways ? Why ?
1 QurodlGeiyemt LTLaDDET LESHEDSHES ereuails b (Burré‘lg’r,grrr‘r. ?
How did Sri Ramkrishna Paramahamsa preach the people ?
@heu Caslusslen cuenréAuflgun, Sipeert ugiiludleid E&s Salheel wHpbd
Qeiids sreraeier Lafloe Ceuelléd Camemrts. :

Bring out the role of the press and newspapers in the growth and spread of
Indian Nationalism. _ ' -

eyssor QUL SLib U ellenéEs.
Explain Mountbatten plan.

SeliL) QUITGETTSTD ETeTPTe) eTeTesT 2

' What is meant by mixed economy ?

37.

38.

39.

40.

41.

42,

43.

44.

45.

Gowvdlud (aoatuaid Gra@ elamésense LEBb oL 5®S )
; _CIVICS ( Answer any two questions )
Sal L&) ereipmey eredrent 7
What is meant by ‘Federation’ ?

stz aucaser allaTsEs.

Explain the types of Election.
UTHSTETT SjLwrer L llener aupbGeag) w2
Who issues the Voter Identity Card ?

yoflflwér (ererauCuenid srerg Nearéaenése LLHD allor 5GS )
GEOGRAPHY ( Answer any four questions )

s&eTem SLyd upd @Ol eeoys.
Write a note on the Deccan Plateau.
@pduraler CareL aurflLiiser Soveaupeons 5’:\.@]5’:..
Mention some of the summer resorts of India.
guspu Ghduraléd ellaenybd aéelwl Llteeh wreal ?
Name the important crops cultivated in peninsular India.
Qidurallés sraoriL@b (éélus srH QUGS LT 7
What are the minerals found in India ?
GODHSULE DD TSTPTE eTesTen ?
What are the Minimum Levels of Learning ?
9© ufloreorl) LLRGET LT ? '
What are one dimensional diagrama 7



46.

47.

48.

49.

50.

51.

B 4032

ued - @ / PART - C
( UG : 6 x5 =30) / (Marks : 6 x5 =30)

efliy ! Note: 1) edor alamssapsdeh alor Sms.
Answer all questions.

i) eaeare aflomallan syiuc @eter wrpm eflaTésafia
gCGseib patnedE b afloL wellssayb. :
Only one of the alternatives in each question should be
answered.

Qidureme paleiLpss Leaperd] Cuhllarea.. pLaigsomasaer alleufl.
Enumerate the modernization measures of Dalhcusie in India.

<evevg / OR
185794id &y 1 BeoL QLDD QLD YL A&sTen STyaThass Wreme ?
What were the causes for the Great Revolt in 1857 ?

aabalrl GumpriLssle surey &HIy (Surrsm @Qbdu Csdlw @r,rrr@;mgélaﬂ

uBiSlenetts LHD! erHEIs.
Write about the role of Subhash Chandra Bose and the Indian National Army.

<ebevg / OR

@bslurallsr Ceuellypaysd Carsimasw elaré@s.

Explain India’s foreign policy.

dysb Seowsefler gdlaryraaoer alersams.

Explain the powers of the Prime Minister.
2/eevgs / OR

Qbslu Carzé 2 mamusdlear eydleryase wLHpIb LeNasT LTea 2

What are the powers and functions of Election Commission of India.

wésar Nydbldeeiear Lk, QUInILLSET Wremeal 2

What are the role and responsibilities of the representatives of people ?
2evevg / OR

TSSO, UTSHETETT L WTET 2 L, UTH&HMNSGD WD ug)[ﬁ] enses.

Write in detail, about the voting right, voter identity card and the voting system

@bdluraller wepdT msuenL e WwoHussad upld afeurf.

Discuss the importance of rain water harvesting for India.
2ebevgs / OR

LDGTaT aueniD erelieuTn) LUTgISTHeLILL. Couctorb 2

How should we conserve soil resources ?

LriLr @by wHDID 6T66® e HDDWE ETEHHONS B)BHS HITTETRGEDETS Gahis.

. Mention the conditions that favoured the location of the Tata Iron and Steel

Industry.
<2ebevg/ / OR

gfs;_ba asdowu sfefss @by rerisb CupOarea® auBbd wupslser ul_ng‘,ﬂ
eurf}
Describe the efforts made by the Government of India with regard to housing.

[ Turn over
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52.

53.

54,

55.

: u@d - # / PART - D
( GGt &6 :4x5=20)/(Marks : 4x5=20)

@oly | Note: a&or alaimébs@bé@n aleoL HHS.
: Answer all questions.

@pdlu eueguLpdlev ( outline map of India ) QeudQaenvsll sregglar o bidlel
uGSow aloThE AHle Spsaeo @)L hsDeS GD&sab

a) SfHTL&D b) eukisTenD d oCurss).

Shade the British territories during the period of Lord Wellesley and mark the
following regions in the outline map of India :

a) Carnatic b) Bengal ¢) Oudh.

SpsacoiL Hlepsslaamen &nmé@&rr;".qé_s SwHIRS :

a &sOPUTELD Quésid b) Qeerfl Qaeryr Blopé&sl
¢ supTHus HL8 d} . 2048 esSurdlysbd

@ QeusiemenuGen QeuelCGum Guéseid.

Draw a time-line chart for the following events : . :
a) Non-cooperation Movement. b} Chauri Chaura incident
c¢) Swaraj Party ~d} Salt Satyagraha
e) Quit India Movement. :
Qbdu auruLgle Spssrgnid gD TP LLED DTS :
Mark any one of the following in the outline map of India : ;
a QsaCuhell LGaussTHPE Sossoeanyb SjeubpTe wen LD LGS &eal.
Directions of South-West monsoons and the places of its rainfall.
b) uBsd elmenybd UGS
Cotton growing regions.
0 OQesroafldlehs OCarasssT ea@yysier @EUYUUTO®S @y o1 B
© ehdUys@pL 6. ' ;
Railways : Chennai to Kolkata with two junctions.
sapsid, QUI@eTTETTD LHPIL Gerssryb GlmLfurer alupiset Cesfléed @
aeflevurer olars Qsreuloear surt Cels. | : :
Prepare a simple schedule of questions, with coverage for socio-economic and

' cultural data.

SPluy : uTFeeUpD WTeT el &el aoruLsde @Lusoead GPUIILES
: ST Qauspel udHe el bsoeny upHu @dlliyset LLED TWS
Coucr@d. LHPID sTe&ECeTiKHED e GPlyssT LUED WS
GoussorBid. -
Note : Blind candidates may be asked to write only notes for the questions
: ~ related to map and time-line chart. ' -




